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Based on N.C.E.R.T     Pattern  

                                CH – DIVISION 

Division with long  method and verification . 

See example  -  Divide 6 by 3 . 

  

Verification : To check the 

Dividend= Quotient × Divisor 



                   + Remainder  

In above sum   

Quotient= 2 , Divisor = 3 

Remainder= 0 

    2 × 3 + 0 = 6 ( Dividend) 

So, the division is correct. 

In C. w – solve page 110 , 

According to example. 

H. W. – Divide page 112. 

                   ******* 

 


